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Ex3.2



Functions Ex 3.1 Q18
fi¥ R given by f(x)=x"+1

(
f(O)=(0P+1=0+1=1
f(3=(3)°+1=27+1=28
F(o)=(9)+1=-81+1=-82
F(71=(7)7+1=343+1-344

Set of ordered pairs are {(-1,0),(0,1),(3,28),(9,862), (7,344}

Functions Ex 3.2 Q1
We have,
Fla)=uw®-3x +4
Mow,
Flex +1) = [2x + 1) - 3{ax + 1)+ 4
=dx® 1+ 4y —Bx-3+4
= dx®_2x 2
It is given that
f(x}:f{2X+1)

®¥2 _Gx+d=dx? _ox 42

=k
T O=dxZ-x?-2y+3x +2-4
= Wiy -2=0
= wiiav-2x-2=0
= v +1)-2{x+1)=0
= {x+1){3x-2) =0
= Xx+1=10 ar Ix-2=0
2
= Mz =] ar ==
g
Functions Ex 3.2 Q2
We have,
2 2
flx)={x -a) [x - 5)
Mo,

f[a+b}= [a+b—a}2{a+b—b}2
= hZ%a3?

= f(a+b}=azbz

Functions Ex 3.2 Q3
We have,
y=f(x)=ax_b
bx -3
- _ax-b
b -z
= yfbx-a)=axr-b
= xyb-ay =ax-b
= xyb-agx=ay-b
= sfby-a)=ay-b
= st
by -3
= x=ry)

Hence, proved




Functions Ex 3.2 Q4

We have,

e

r'[f(x}] = x Hence, proved.

Functions Ex 3.2 Q5
We have,
X+1
f £
ol
Mo,

f[f(x]] = ¥ Hence, proved,

Functions Ex 3.2 Q6

We have,

x2, when » <0
Flx)=2x, when 0£x <1

i, when x =1
x

(a) F1/2)- 2
(6) 7(-2) = (-2 = 4
(&) FY=1=1

PRTRRDS B ! i




CHRINEIE =
(=) f{-q'—_E} = does not exist bacause -3 ¢ domainff).

Functions Ex 3.2 Q7

We have,
1 *
i) =xt- —()
Mo,
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x
11
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3
= f[%] = X_la - x5 -—{ii)

Adding equation i} and equation {ii}, we get

()

1 1
f{x)+f[;]=[x3—ﬁ]+
copdeedie, 13
X x3+x3 X
=0
Fx)+ f[iJ =0 Hence, proved.
X
Functions Ex 3.2 Q8
We have,
f{x)= 2x
1+x°%
T O iy,
£ {tan5) 2(tan8)
angd)= ——+
1+tane
=sin28 v sin2g = w}
1+tan®e
ftang) = sinza Hence, proved.
Functions Ex 3.2 Q9
s
%+ 1
1 i 1-x
1 v . 1-x
f[?]‘i e L
—+1
* %
x-1
i f(x) =
&) ®x+1
1 i -1-x
T T T . I I S
b3 _1+1 -l+x  -1+x 1+x flx)
% % ®-1
Functions Ex 3.2 Q10
We have,

Fix)= [a—x”)”n, 3:0
Mow,

f{f[x}) = f{a— X”)”n

oefeer ]

-[o-fe-)]”

n—ll,u"n

—|—.3—.-‘.l-l-




e |
_ {Xn)l.f’n
- {x}nxﬁl

=x

f{f[x}) = x Hence, proved.

Functions Ex 3.2 Q11

We have,
1
£ hfl=]=
af [x] + [XJ

= af [%J +bf [x] =

g e (I:]

= af[i]+bf(x) =x-5 —{ii)
X
adding equations(i] and {ii), we get

af(x]+bf{x)+bf[xi]+af[xi]=%—5+x—5

= (a+b}f[x)+f[%}{a+b)=Xi+x—10
N ”X]”[%]z aib[%” ‘10] — fiii)

Subtracting equation(ii} fram equationfi), we get

af(x]—bf{x)+bf[%}—af[%]=;1—5—X+5
= (a-0)r)- (1] b)- o

- f(x]—f[}%}:ﬁ[%—x}

&dding equations{iii) and {iv], we get

2f(x}=aib{%+x—1ﬂ}+alb[%—x}
(a—b][i+x—10:|+{a+b)[i—x:|
= 2f[x}= i 2
fz+b){a-5)
& fa} & fa}
—+4ax -10a-—-bx + 106 +— - ax + —— b
= 2f )= £ e T L
a -b
2)(—3—10&+1Db—2bx
2f x) =
= () 2 _ .2
= f[x}= 21b2x%[2—a—lﬂa+lﬂb—2.bx:|
o X
1 ]
=az_b2{;—53+5b—bx]

fx)= = [i—bx—53+55i|

% _hE|x
Ela-h
= 21 2{2_@{]_ {2 2)
ac-h* X a-b

1 [a_b ] 5{a-b)

1 S 5
a%-h?x a+b





